Simple Website Coding Project

PROJECT SCOPE | Hours: 34 Cost: \$1,420

_	_				
	\Box	CITT	0 IO	21/	outs
	110	SKII		ıavı	
		2176			-

Hours: 19.50

Cost: \$820.00

Description:

Layered Design files to HTML/CSS/JS for the desktop layouts

Tasks:

Project Management \$60/hr 2 hrs \$120.00

I.1. Heating and Cooling 101 Home Screen

Hours: 2.50

Cost: \$100.00

Description:

- 6 colored boxes with text
- whitespace on top
- footer graphic will stick to the bottom of the page

Tasks:

Coding - HTML / CSS	\$40/hr	2 hrs	\$80.00
T .: 0.D.I .: I	÷ 40 /l	0.51	±20.00
Testing & Debugging - hrs	\$40 /hr	0.5 hrs	\$20.00

I.2. Interior Page Content Slider and Nav

Hours: 4.50

Cost: \$180.00

Description:

Notes:

- static background (text embedded into the background)
- cycling slider with text ability to click on the circle pagination to move from one slide to another
- automated sliding (5 seconds)
- 6 tabs at the bottom that change the background and LHS content (to be provided)

tabbed content needs to be provided

Tasks:

Coding - HTML / CSS	\$40 /hr	4 hrs	\$160.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

I.3. KwikComfort Financing Calculator Page

Notes:

Hours: 3.50

need to confirm whether the \$ and % in the text fields are correctly placed

Description:

- footer graphic sticks to bottom of page
- finance calculator area has 3 text fields (validated to be numbers)
- plus and minus buttons increase / decrease the numbers inputted in the text fields

Tasks:

Coding - HTML / CSS	\$40/hr	3 hrs	\$120.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

I.4. Maintenance Page

Hours: 2.00

Cost: \$80.00

Cost: \$140.00

Description:

- 2 colored boxes with text and graphics
- footer graphic sticks to bottom of page

Tasks:

Coding - HTML / CSS	\$40 /hr	1.5 hrs	\$60.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

I.5. Savings Calculator Page

Hours: 5.00 Notes:

tabbed content needs to be provided

Cost: \$200.00

Description:

- tabbed content (4 tabs)
- static map
- tabs will have some basic form elements

Tasks:

Coding - HTML / CSS	\$40/hr	4.5 hrs	\$180.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

II. Mobile Layouts

Hours: 14.50

Cost: \$600.00

Description:

Tasks:

Project Management \$60/hr 1 hrs \$60.00

II.1. Heating and Cooling 101 Home Screen

Hours: 1.50

Notes:

6 colored boxes with text

stack on top of eachother

 footer graphic from desktop is not displayed anymore (to be confirmed) confirm whether we still show the footer graphic on mobile

Tasks:

Description:

Coding - HTML / CSS	\$40/hr	1 hrs	\$40.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

II.2. Interior Page Content Slider and Nav

Hours: 3.50

Cost: \$140.00

Cost: \$60.00

Description:

- static background (text embedded into the background)
- cycling slider with text ability to click on the circle pagination to move from one slide to another
- automated sliding (5 seconds)
- 6 tabs at the bottom that change the background and LHS content (to be provided)
- backgrounds will need to be provided in multiple sizes

Notes:

tabbed content needs to be providedwe need to determine the background sizes that will need to be provided for the mobile layout

Tasks:

Coding - HTML / CSS	\$40 /hr	3 hrs	\$120.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

II.3. KwikComfort	Financing	Calculator
Page		

Hours: 2.50

Cost: \$100.00

Description:

Notes:

- footer graphic is hidden (to be confirmed)
- finance calculator area has 3 text fields (validated to be numbers)
- plus and minus buttons increase / decrease the numbers inputted in the text fields

need to confirm whether the \$ and % in the text fields are correctly placed

Tasks:

Coding - HTML / CSS	\$40 /hr	2 hrs	\$80.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

II.4. Maintenance Page

Hours: 1.00

Cost: \$40.00

Description:

- 2 colored boxes with text and graphics
- footer graphic sticks to bottom of page

Tasks:

Coding - HTML / CSS	\$40 /hr	0.5 hrs	\$20.00
Testing & Debugging - hrs	\$40/hr	0.5 hrs	\$20.00

II.5. Savings Calculator Page

Hours: 5.00

Cost: \$200.00

Description:

Notes:

tabbed content needs to be provided

- tabbed content (4 tabs)
- static map
- tabs will have some basic form elements

Tasks:

Coding - HTML / CSS	\$40 /hr	4.5 hrs	\$180.00
Testing & Debugging - hrs	\$40 /hr	0.5 hrs	\$20.00